LEVEL - 6 (Page 1)

Multiplication (Without Abacus) Time Limit: 2 min  Time Taken:
Marks : 4 marks each (40 Qx4 marks = 160)

443 x 8 =364 | 773 x 9 = 695F | 294 X 7=9058 | 498 x 6 = 2988
634 x 6 =HLON | 629 x 8 = 3FTh [ 345 x 4=1380 | 939 x 6 = 563
768 x 3 =R30h | 886 x 9 = TqHy | 710 x 9=6370 | 342 X 5 =110
g x 4=16 [322x6=19% |691x2=1382 |196x 3= 528

118 x 8 =ahy |196 x 7=13F2 | 968 x 8 =FFuk | 265X 9=3R5
291 x 5= M55 | 155 x 5=F%5 | 591 x 3=1F+3 786 x 4 = 3144
12 x 4=1648 |200x 3=28%0 | 712x 6=hatQ | 796 X 3= 226%
762 x 3=299¢ | 969 x 4 =233716 | 929 x 4 = 3715 | 516 x 7= 2612
897 x 2 = 1#94 | 782 x 6 =heAqa | 858 x 6= S48 179 x 5= 395

L8t5;0><7:6020 403 x 4 =1612. | 957 x 2= QI 963 x 8 = 17104,

=

Division (Without Abacus) 1 deci Time Limit:3 min 30 sec Time Taken:
Marks : 3 marks each(40 Q x 3 marks = 120)

443+ 5= 88.6 | 653 = 5=1306 | 250 + 7 _35.%F | 236+ 4= 99
651+ 3=183.G | 820+ 8=1025 436+ 7 =062 | 173 6 =888
813+ 7=116-1 | 583 + 9=6H.7 151 - 8 =188 | 678+ 2= 339
196« 6= 1326 | 360+ 9=HO |540+ 2 =230 463 + 5=92 0
gos s 7=11h7F [630+ 6=105 |531+9=959 |388+3=1a9.3
o954 = 5= 120-3 | 635 = 4=1987F | 868 + 9= Gk | 966 = 7= 13%
609+ 7=2828 | 435+ 4=108-F |665+7=99 177 + 5= 354
9= 9=79. |45+ 5=189 |189+ 4 =HT2 957 = 3= 219
247 + 5= ha.y | 734 = 2= 36T 995 - 2 =L4a15| 300+ 5= ©O
833~ 8= 10k, | 943+ 3=314.3[ 969 + 4 =4.2 | 655 ~ 4=163.F
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Without Abacus Time Limit:4 min Time Taken:
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